
©R u2z0^1a7Y FKeuutuax HSXoJfEtkwmaZrCe] kLaLPCk.s z mAElhlU xrUihgwhCtrsz IrueOsneNrFvZekdN.N y pMSaKdPeg MwfiUtDhs gIsnQfVipndiGtwet TA\lQggeXbVrJah z2h.

Worksheet by Kuta Software LLC

Logarithm properties Name___________________________________

Date________________
©b v2o0z1y7a zKsuvtvai nSHoMfPtwweaCrLeN KLGLWCw.V H BAslMlK crringzhQtRsc irNeosTezrNvyerdX.

-1-

Solve each equation.

1)  log 4 - log 4x = 2 2)  ln (x + 4) - ln 5 = 3

3)  log (x + 1) - log x = 1 4)  log
2

-2x - log
2

9 = 3

5)  log
3

-x - log
3

2 = 2 6)  log
5

9 - log
5

(x + 6) = 2

7)  log
3

7 - log
3

4x = 2 8)  log
4

-3x - log
4

6 = 3

9)  log
4

5 + log
4

(x + 7) = 2 10)  log
2

5 - log
2

(x - 5) = 3
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11)  log
3

(x + 5) - log
3

6 = 1 12)  log
8

3x - log
8

5 = 1

13)  log
4

10 - log
4

2x = 3 14)  log
3

-x - log
3

4 = 1

15)  log
9

10 + log
9

4x = log
9

80 16)  log
4

3x - log
4

2 = 3

17)  log
4

-3x - log
4

9 = 3 18)  log
8

6 - log
8

(x + 1) = 2

19)  log
6
x - log

6
(x - 4) = log

6
21 20)  log

8
(x + 9) + log

8
9 = 1
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Answers to Logarithm properties

1)  { 1

100} 2)  {5e3 - 4}
3)  {1

9} 4)  {-36}

5)  {-18}
6)  {- 141

25 } 7)  { 7

36} 8)  {-128}

9)  {- 19

5 } 10)  {45

8 } 11)  {13}
12)  {40

3 }
13)  { 5

64} 14)  {-12} 15)  {2}
16)  {128

3 }
17)  {-192}

18)  {- 29

32} 19)  {21

5 } 20)  {- 73

9 }
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